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Problem figure:
Answer figures:
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>
A B C D

Problem Figure - 927 =%

Answer Figures - 3caX HTpfadr
Choose the correct water image of the problem figure.

Problem figure;

Answer figures:

d e

Ans

& X




Xs3C
X+ B

Q2 =fg 5wEdr 2018 F WHAR & ar 8 e 2019 Fr Fi= @ = grm?
5t February 2018 is a Monday. 8t April 2019 will be a:

Ans CUEIE
X172
Wednesday

 HITeldR
Tuesday

. HIHAR
Monday

F
Sunday

K2

&

Q3 Pler W Pl g F T WPAAT § AT FE @I &7

X%ﬁ—»@

Select the figure which does NOT belong to the group.

e, d é
" (113 2 3 4
X22
X4
X1

Q4 v Tarsrelt st 5w T 4,200 F WitET 12T 7| SHH HFT 8% Fic=y & & & HH B &l
TR T ATE ST TF o gem?

An electric bulb was bought at ¥ 4200 .Its value depreciates at the rate of 8% per annum
.Its value after one year will be:

Ans X1 T 3,684
< 2 3,800
V'3 73,864
K 4 T 3,746

Q5 e #F ;e B ges 2017 uioafar fFg o Afser & S &2
‘Which Indian model won the Miss World 2017 contest held in China?




S 3RS
Zoya Afroz

2 ArfAST ATt
Novyonika Chatterjee
Manushi Chhillar

, 3feraT o
Alia Bhatt

x

v

x

Q6 e fgadwr frhe & diF Qe ud® oeIe aTel THATT fRheY FiA §7
Who is the only cricketer to score three double centuries in One-Day Cricket?

Ktﬁam

Virendra Sehwag
5, e it

Ricky Ponting
s IEEIC

Chris Gayle
o, e

Rohit Sharma

7 SHH ¥ HiT G Tk JHHATF TEddT g ?
Which of the following is a chemical change?

Ans v HeoF@T &7 WeT glalm
1.
Butter turning rancid

x 5, 02 ¥ gEr 9% e
 Making dry ice from CO,

g woifesH aX &1 TH/ g
Heating a platinum wire

4aﬁ'ga:r£_|;azﬁuaqw

Magnetisation of iron

x

x

Q8




A & o T & P B de e ¥

Select the option that represents the number of triangles in the given figure.

Ans X1 6
<210
X3 7
Vo9

W gqra # HvEdr F T F=E9R viaeg T F=1r
‘What is the highest percentage slab for GST in India?
Ans X1, 20%
< 2 32%
X3 25%
v 4 28%

Q10 T AT oiTa I 1000 F gt 9T o 2T ST FEAT H 100 F T[0T A R
ST TEAT W 10.06 A0 7| SATcH Uit A1 e

A positive integer, which when added to 1000, gives a sum which is greater than 10.06
when it is multiplied by 100. This positive integer is:

Ans X711
27
<33
K45

Q11 T3t 7 AR R TaH a5 T (shell) 7 ST B &
Non-metals generally contain electrons in their outermost shell.
Ans 1,273

1,20r3
5,6, 7ATS
'5,6,7o0r8
8,9 3T 10
'8,90r10
x4.10ﬁ18
10 to 18




Q12 R 7w I fwedt # ¥ A9 & 75 wpfa F A 7 9@ aren wgr e

e |
Problem Figure
X ]
-
Answer Figures
- -] S -]
X a x| | X X [
A B C D

From the given four answer figures choose the correct water image of the problem figure.

Problem Figure
X ]
-
Answer Figures
- -] L] -]
X il X X X [

s XA
X2B
XD
VG

Q13 gyamgr & Brswr & yaer e A F e G S g2
‘What is the radius of an atom used to measure?
Ane x , TS FE
Atomic number
X 2. TIHIOTH FeaATT
Atomic mass
qIATOSS 3HTHR
Atomic size
qIATTOGehdT

* Atomicity

v

X4

Q14 = 10kg FeadTar A el a7 9T 20N o 1AM A1 8, d c=or fheen
grm?

If a force of 20N is applied on a body with a mass of 10kg, what will be the acceleration
produced?

Ans X1 100m/sec?
< 2. 200m/sec?
< 3 sm/sec?
v 4 2m/sec?

o afFTH T E:
The formula of Power is:
Ans m’
r ! q3
momentury/time




vz FAHAT
work/time
X3, AT/ THT
speed/time

x 4 e/ wa

' displacement/time

Q16 TH FxG I 10 TEHAET &I Biehel oFaTs Aol T 3ol oF § 20 AR H
g W @ e ¥ | sEer whatae e g K s

An object is placed at a distance of 20 cm from a convex lens of focal length 10 cm. The
image is formed at a distance of:

Ans xllsﬁﬂm

15 cm
xzisfﬁﬁ'ﬁﬁu

5 cm
«3.2{]@"@114’!3?

20 cm
x4.10ﬂ'€nﬂar

10 cm

Q17 o U edl & S A ¥ WA Uee-eA F AT H
Wi : 3T T

Select the word pair that is analogous to the given word pair.
Sankranti : Andhra Pradesh

Ans v HIUTH : T
Onam : Kerala
ST . 9T
Bhangra : Punjab
X3 o - e
Christmas : Christians
, FUF | TR g
Kathak : Uttar Pradesh

X2

x

Q18 14, 35 3T 56 Fr F.9. Frder &7
The LCM of 14, 35 and 56 is:
A of 1. 280
#2140
X<3.210
X 4 560




Q19 Rl & S AfEse fFFg AT Seeng & aEwe H adars i o
Under which Indian emperor's reign was the Jama Masjid in Delhi built?

+

XLW

Q20 =fy TegHifaras H Faiaear 3 3N siaice &1 2 &, o veggiiferan Fiwmgs &
mﬁlﬂ;@%’

If the valency of Aluminum is 3 and that of Oxygen is 2, then the chemical formula of
Aluminum oxide is:

Ans X1 (AlO) gy,
/< 2. AlO,
< 3 AlLO,
v 4 AL0,

Q21 & A #f gufy &1 & 3 g w8 &1 Ty B F aEa &) @ S A
T TS &0

Sree and Kavi are a couple. Siri and Samyu are sisters. Samyu is the sister of Kavi. How is
Siri related to Sree?

Ans 1 == [ATAT [G%1 HET [aF

Uncle
X 2. ﬂ'lé'
Brother
X T 981/ AHEY S8
Cousin
v . Tl s [aTett! ST AT

Sister-in-law

Q22 wlgagug 5x? — 7x +2 & Y o I B &, Tl 3eTh sk 1 AT AT Gl

If « & B are the zeros of the polynomial 5x? — 7x + 2 then the sum of their reciprocals
182

Ans X 1.

B3 =1 WAk WA -1 r2|EA

Q.23




ferafaf@a & @ 5 il sa# # FINET FT & g2
In which of the following permanent tissues are the cells dead?

Ko

Parenchyma

RIIARTSHT

| Collenchymas

TFOAFRISAT

| Sclerenchyma

TIAFISAT

Aerenchyma

K2

v

p

024 Fwut # 35T T[T + AL Pud @ g

Testes are located outside the abdominal cavity in the:

Ans HATAA
X"
Urinary bladder

Q25 aF OIEr & BIET a1 A it fSE 72 i [0 F{e 9 T quT 741 91 aial & |
The smallest number by which 72 must be multiplied to obtain a perfect square 1s:

Ans X714
X226
<38
Va2

Q26 T A T Fr 3T 15 e T Far ¥, 6T o gear € st 20
alIeT I 81 5% a1 98 A’ Jsar g A 30 Rreeey amr war
T &, 7 aifeer FgEar & 2 40 Rroiwier woer #1 ame fig A Atoe &
& s e g &

A man travels 15 km towards east, then turns right and travels 20 km. He then turns left
and travels 30 km. Finally, he takes a right turn and covers 40 km. The shortest distance
between the starting point and the destination is:

Ans 1. 50 km
v 2 75 km
< 3100 km
# 4 80 km

Q.27 [

QuestionID:

9864493624




Ans

T @ ool A wEdt ¥ Bl §) 3Ee v e i gir 80 Hrew § iy
mﬁnﬁrzu:ﬂuqﬁrmhmaﬁmm&ﬁéaﬁq@aﬁﬁm
HERTF AT e

If an anchored boat is rocked by waves whose crests are 80 m apart and whose velocity is
20 m/s, then the time required by the crests to reach the boat is

x , 0.5 WS
0.5s

X 2. 5 ¥F3
5s

x , 0.2 WS
0.2s

v 4 uEE
43

Q.28

Ans

~70 + 28 = (7-3) =7
~70 + 28 = (7-3) =7
X1-9

X2 -69

#3-105

v -863

Q.29

Ans

T qiET F WS 7 63 3% ured [T AfF 84% 3w ured FA F sET A
qeTT fhaer 3 & i

In a test Paran secured 63 marks that was also equivalent to obtaining 84% marks. How
many marks was the test out of?

~< 180
X265
v 75
x4+ 85

Q30

Ans

ARBTEFIF 40 A A W F&cT ¢, B AN C s¥ 30 R F g
I ThS §, ek C AT A T 1 A 24 T F q@ T wHa €1 A, B HR
C eI ToT 36T 30 F1 A vl Bt & 9 X ThT 82

A and B can complete a task in 40 days, B and C can complete it in 30 days while C and A
can complete the same task together in 24 days. How many days will each of A, B and C
take to complete the task individually?

1 48, 96 3 32
48, 96 and 32

N 32, 48 3T 96
32, 48 and 96

: 60, 120 3T 40
60, 120 and 40

, 40, 120 3 60
40, 120 and 60

x

v

x




3! vEl fATeFw & AROT-FRNET dEE FiT &7
Which Indian American is the CEO of Adobe Systems?

Ans -
1 SwIfaER BEaT
Francisco D'Souza
el ARTIOT
Vo 2

Shantanu Narayen

| ¥R s
Sundar Pichai
T AT H

4,

x

X
Sanjay Kumar Jha

Q32 FATafe eI I S o ST FATINRTHT & HeTH F AT Gt T JTAT gl AT &
Reproducing new plants by cells instead of vegetative parts or seeds is called:

Ans v ey e
1.

tissue culture

g fAsToT
X2

regeneration
X 3. EE-

multiple fission
o g s

binary fission

Q33




T 7T gFden W FER H 3 97 & & & 1% A=ga & § S o
fafea & @)

aFaed:
fveTs o &t AT §, A AT AT gHaE QU AT H, o A T
# 3 &1 Al 7 & S

o

AT

1. segarEe 8T F R g F T Al g
2. fRers g gl & weT & O HS o A §, A 3O A T W
A& T B
_Con]:-;iid_er the given statement true and decide which of the given assumptions is (are)
implicit.

Statement:
A teacher tells a student, “if you don’t finish your homework, you will not be allowed into
the class™.

Assumptions:
1. Discipline is a way to create effective learning.

2. The teacher will be happy not to have a student who is not punctual in his work.

Ans " shdol AT 1 [Afga &

Only assumption I is implicit.
1 3R 2 g=t fAfed =g €
Neither assumption I nor IT 1s implicit.

3immm2ﬁ1%?r%f|

Only assumption II is implicit.
1 3R 2 g fAfed &

Both assumptions I and IT are implicit.

x

x

x

Q34 ng
==
Elf=1i=
Tty T v BE # Fae v AR ST WS A TEE 9T S @, ar 7
TIE gl
Rt
ai=]l=
=lf=]i=

If three groups could be formed using the given figures only once, these groups would be

Ans v (1,4,7), (2,3,6) 3X (5,9,8)
(1,4,7), (2,3,6) and (5,9,8)




x, (147), (2986) 3T (5,3,8)
(1,4,7), (2,9.6) and (5,3,8)

., (147), (6386) #R (2,9,9)
(1,4,7), (5,3.6) and (2.9.8)

., 247), (138) #R (5,9,8)
(2,4,7), (1,3.6) and (5.9.8)

Q35

10 em 3R 6 cm R#AT a7 UF AT W WA GRA A T FHAGEHS
T T FormaT T FOT 60° Bl AT F AT e HenieT # fraer
gemr?

A rectangle having 10 cm and 6 cm as its dimensions was reconstructed to make a

rhombus having the same perimeter as that of the rectangle and 60° as one of its angles.

The area of the rhombus, in cm?, was:

Ans K1 2443
< 28V3
#3.16v3
v 43243
Q36 FeTor THITAT 3T WFeAIT U8 Wiads Uy (FEHH) Fr 9gdr Afen

Ans

HETETT HiT &7

Who is the first female president of National Association of Software and Services
Companies (NASSCOM)?

) aferar AR
Vanitha Narayanan
e
Debjani Ghosh
_ or AgFeR o
Kiran Mazumdar Shaw
, Afeesh sfaaras
Mallika Srinivasan

~x

x

Q37




FH Fea-3Rpler HT T L S & T8 WIF HPhT H HWT G907 Afraa gl

Problem Figure A

C:/
Answer Figures

&) ci/4 é/c} q\j

A B C D
Select the Answer Figure that is the correct mirror image of the given Problem Figure.

Problem Fignre A

CV
Answer Figures

G| 4 e
AN

B C D

A
Ans X1 C
K2 A
<:B
v:D

Q38 AN T TS G A W THHIET I AfseT bW TR TeIfad Bl ¢ °
‘What happens to the ammeter reading when the length of the wire is doubled?

Ans K1I|gﬂ;ﬁ€rm%

It increases two times

_ Fg el @ S @
It decreases to one half

| TE Ae-ditag 9 He S g
It decreases to three-fourth

x , TE A T

It remains the same

v

x

0 rafafa # & fraeT FIs gorg 791 &2
Which of the following has NO unit?
e Ko m
Density
A fae gdcT
Relative density




x}ﬁnma

Displacement
arel

Pressure

X 4

Q40 wHETUT # T a1v e Fgal aur SEmet & Toe Wwew aiEfEad e @
LHS = RHS g =meem|

6x4+2=16

Which of the following signs and numbers should be interchanged such that for the
following expression, LHS = RHS.

6X4+2=16

Ans x X F +, 2H 6 FA I
X with +, 2with 6

X @+, 42 FA I
X with +, 4 with 2
X T+, 16 I 6 FHTT T

X 3.
X with +, 16with6

v+ X @+, 436 HIAIT
X with+, 4witho6

52

Q41 e Oof HITT Fr €S FT TET, Tk 927 & IATT 1 AT g afE o
HEAT T & SIEA & O g, df J9 B TH A Y wiAg heell 87

The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If
the numerical value of the volume of the cube is equal to the numerical value of the area
of the square, then the length of one side of the square is:

Ans
1 108 SeFrs

108 units

x> 36 TS

36 units

«3.216 ZFS

216 units

s 288 SHTS

288 units

Q42 mi%zmaaa:mwamfr#aﬂwnﬁatawmmwﬁgm
T amar &7
‘Who is the newly appointed Governor of Bihar as of March 20187

Ans «1mmmﬂn%$
Satya Pal Malik

2. aa-
Kiran Bedi

x




3 g FART iefr
Devandra Kumar Joshi

x4':rm‘|%’|?—|mqma1?r
Ram Vilas Paswan

x

Q43 wed T (Problem figure) @ fGU a1 IX &sFedr (Answer figures) # Frar
v # Fleaead &1 sa13v &% uea ofF (Problem figure) 37 O fsedt & &
frast oot g8 81

Problem Figure

-

Answer Figure

@ (@)X

D

The problem figure is embedded in one of the four answer figures. Which of the four
figures contains the problem figure?

Problem Figure

-

Answer Figure

SR s

B © D

Ans X1 B
XD
X3 A
viC

Q44 for=fafea el & F Fa W TcF TA Teal el 3T WHAMLHT & FrY
TS T 92 U] 3c9ee T S TARISE TIadT T@ar §7

Which of the following elements has the unique ability to form bonds with other atoms of
the same element giving rise to large molecules?

F 0 2

Aluminium
TR
Hydrogen
v &) Fra
Carbon

CIEHEC

Nitrogen

Ans

K2

X 4

Q45 TEarfer o e & gu IiEas & FRoT v a5g & Afgd = # Faramare:

The energy possessed by a body due to its change in position or shape is called:
Ans

Chosen Option: 1




Tt Bt
kinetic energy

X 2 TETee F=AT
chemical energy

QAT FA

<

K3

nuclear energy

, Tfas st
potential energy

v

O eF AT FA H HIURYAT UG H AT F

E1, H2, K6, N24,

Select the missing term in the given sequence.

El, H2, K6, N24,
Ans X1 Q72
# 2. P120
< 3.Q720
v+ Q120

Q47 TF W weTE =R w{ AR fvk =Y & 57 @9 @ Fie @ agEe
fafea &4

a&:
T 3 T & FROT TGS F ST THA W g ST TF G I I

ECLICH

1. BRI 9§ HEE OF TG MATF A 6l
2. g% EE F BT W i AT AE T

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Due to potholes in the city a large number of people are unable to reach the airport on
time.

Assumptions:

1. Reaching the airport on time is not necessary.
2. There is no other route to the airport.

e x FarwgAa 1728 Afga 7

Neither 1 nor 2 is implicit




o A 2 fga 3

| Only assumption 2 is implicit
Faer A 1 AfgT 7

’ Only assumption 1 is implicit

| e 19 2 A e E

Both 1 and 2 are implicit

2

~x

x

Q48 feam amm =1E v GRER F AfE oY @ ier § A Fa T 133650
8l

ar siiersy B & v aiffs s99 e ©

Expenditure of Family

uFood ®House Rent W Entértainment M Child Educaton ® Medical m Provident Fund

Expenditure of family- aTiani= @=r
Provident Fund- ot ffr  Food- WieZ derer
House Rent- ©X &1 famgmam Entertainment- AT

Child Education- ==t % 9a1$ Medical- garsar

The chart represents the domestic expenditure of a family per month with total
expenditure being T 33650 then the annual saving for provident fund is:

Expenditure of Family

Enterta
inment

9%

mFood M HouseRent B Entertainment m Cnild Education W Medical M Provident Fund

Ans X1 T 4038
< 2. T 4083
X 3. T 48,465
W o T 48,456

Q49 ws Foa H s IR wsfHal F1 Hgua 3:2 71 F@r IuRewd @it B Fa
wE fohaer @ Tear 7

The ratio of boys and girls in a club is 3 : 2. Which of the following could be the actual
number of members?

Ans= x'l 18




V225
X316
K424

Q50 fara yeftia yea-fT an 3ot Fpfadt # ¥ frl v o wfeafza ¥ @

Problem Figure:

2

Answer Figure:
A B C D
Problem Figure - weeT &y

Answer Figures - 3ca¥ 341351%&?

The following problem figure is embedded in one of the four answer figures. Choose the
correct figure containing the problem figure.

Problem Figure:

2

Answer Figure:
A B C D

Ans X1 A
va2C
<:B
<4D

Q51




Sugar- R Wheat- 31§ Rice- =Iael Others- 3ed
femm = 1§ ¢ Fo Fue H AE IgER F o F gefer 7

Ifg et T YgER 6000 = &, & F FeER = gl

The given pie chart represents the annual yield of certain crops, in tons.
If the yield of sugar is 6000 tons, then the total productionis  tons.
Ans X1.30000
¥ 227000
< 324000
< 4 25000

Q52 fardr safacga T #, Fega F= # 9fafda 2w awel =i Hia & 87

In a hydro-electric power station ultimately which energy is converted into electrical
energy?

Ans x 1 TR Far
Mechanical energy

X 2 ufas w=r
Potential energy

| IS F=
Heat energy

| et
Kinetic energy

~x

v

Q53




aifear Ay St oF €}
w7 |9 |gfler |9d | afewe | sew
.
1 A 40 | 37 | 35 27
2 B 6 26 | 76 86
3 C 83 | 71 4 21
4 D 1 7 3 11

The party that won the least number of seats is

Parties and seats won

Serial | Party | South | East | West | North
No.

1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 -+ 21
4 D 1 7 3 11
ms o 1D
X 2B
X3¢
Ko A
Q54 =refr o T 3 30% T IR &1 A &1 AT ¥ A BT WS Foheted FlererT FH FT &=

Ans

e sas I A wE R A

The price of the sugar goes up by 30%. By what percent should Sita reduce her
consumption so that the expenditure does not increase?

1

123 9%

v B3
i 1

2. 22— 9%

~ B3
< 3.23%
< 4 22%

Q.55

T 160 HieT ol & 740 HeX WF T Y 40.5 HHS H UN FA &1 & A
afy =Far &7

A 160 m long train crosses a 740 m long bridge in 40.5 seconds. What is the speed of the
train?




Ans

v . 80 fraaex ufd e
80 km/h

x , 85 feReitIeT uf eer
85 kmv/h

x,, 75 feheiafiex afd wer
75 knv/h

. 70 fereiteTey ufd eer
70 km/h

Q56

Ans

& ¢ gfee W fTEn Y 3 9w A B & @ Huwemsdt F 3 s @
HatAted &l

gfFm:

2

T w ol FATl T e gt F R agd s d A aga @
mwgm%,ﬂgm%mﬁaﬂmﬁamﬁ%ﬁvzwm
= F T Fgar g1

JEUROm:

N

1. TR FHAH HEGR B Feg AT R
2. TR FAA HEGF  TT U S T T g

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

A government servant sitting idle tells a visitor to come after 2 weeks to get this certificate
attested, as he is very busy and have a lot of work.

Assumptions:
1. The government servant wants to help the visitor.
2. The government servant is expecting a favour from the visitor.

Srarel THUROT 2 FARiRRE ¥

Only assumption 2 is implicit.

2 Faa qauReT 1 afafed gl

| Only assumption 1 is implicit.

1 3 2 F RO st
Both 1 and 2 are implicit.

A1 AR & 2 FAffed g

Neither 1 nor 2 is implicit.

v

x

<

x

Q57 fagat (- 5, 5) 3R (7, -3) = TW-TUS F AANF T X 31 F AgAa A

Ans

Trenfeg == arer ﬁg F fordenm= T &2
The coordinates of the point that divides the line segment joining the points (- 5, 5) and

(7, —3) internally in the ratio 3 : 1 are given by:

X (-2,3)
Vo4, -1




X6 0)
Xa(1, 1)

% {1 ART 2020 F FT @ T M7
What day would it be on 1%t March 2020?

Ans m
X
Monday

X 2. ?
Saturday
AehdlT

X

Friday

v PSCEIrY

Sunday

Q59 FrafafEa d@en &, vod REd (?) & TIH W A I HeW F 994 HL

D,GK 2,V

In the following letter series, one letter is missing as shown by the question mark (7).
Select the missing letter from the given options.

D,G.K, 2,V
ms o P
X 2R
XL
KM

Q60 AY TGA 37 &7 &-faEe AY =N 9% & 37 & dT-=aE & e 8 da
9 uge T A 3H AY 99T OF FT AF G IR 99 91 F 35 F W= gE
7f IoAT 37 |

Two-thirds of my current age is the same as three-fourths of that of one of my cousins’.
My age three years ago will be his age four years hence. My current age is years.

Ans X172
v 2 63
< 3. 54
< 4 81

Q61 250 A F ¥ Herww o e H AETE% @, R Fe F B s
TIFIA T AT FAM:

The amount of glucose required to prepare 250 g of a 5% solution of glucose by mass is:

1259MH
F 0

125 ¢

12.59mH

2.
125 ¢

An

[

v




50 9IMH
3.

50g

259MH

4,
x 25g

x

Q62

Ans

el & 38 AT 9% A Teat H AT 375eH FTe Ea wRofr F
sxateed faar o

Newlands arranged the then known elements in his table of octaves.

<163
v 56
<3 58
X417

Q63

Ans

faw v woT W AR F¥ v 9w F @ s § S s
99 H IoaT & ¥ o warT B

X & &N g # Brder 5HET oRET?

YA
1. X At Y g v wry fER F 8 S F = weRa E
2 XF AR T = Y ¥ 5 o= foF 30w v &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How long will X take to build the wall?

Statements:
1. X and Y together can build the wall in § days.
2. Xtakes 5 days more than Y to build the wall.

r !

f&T 9T 99T @1 Scal & F AT 2 3hol qOIoT §, S|tk 1 3fehell 93T FgT
gl

2 alone is sufficient while 1 alone is not sufficient to answer the question.

" &)
T =TT WO FT Soa¥ 2 ¥ AT 1 3rver SUTeT ¥, ST 2 3%heT gIeT SE
gl

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 3.

T 7T wod F e & F Do ar ar 1 a7 & 2 w5ea gl
Neither 1 nor 2 is sufficient to answer the question.

X 4.

foT 7T W9 FT 3eaT & & faw 1 3 2 = v #

Both 1 and 2 are sufficient to answer the question.

Q64

$E 999 Huen FE FAgedw & ffug 82
In which continent is the Andes Mountain range situated?

AT
Ko ®
Europe

Australia




T @i
South America
3TTRTERT

Africa

v

X 4

Q.65 wﬁymmﬁwﬁmﬁm@#mmw
foem$ #1 wRR w9 & W e i T FErE F e 1w e
The base of a triangle is one-third of the base of a parallelogram having the same area as

that of the triangle. The ratio of the corresponding heights of the triangle to the
parallelogram will be:

Ans - X 1.3 1 2
<241
<331
vig 11

Q56 Trafafem # & fFw s 71 - & Jisa W 3 9o gem

Which of the below fractions when added to g gives 37

Ans X1- _1

2
2
K22
3
-
v 1=

11

4.

2

Q67 T 2018 TF IUeRY AFY F FAR, HES A edve A Hes shaw
FT AfF FiT &2

As of February 2018, who owns the Mumbai-based IPL team ‘Mumbai Indians’?
Reliance Industries

X, TEF 3% sfEar
Times of India
X AT T==e

Amitabh Bachchan
X MW Wled

Shah Rukh Khan

Q.68




Ans

faw 1T Joa=al T T A L T AT TF a9 F F FE (@) Feew
Ferdedt 3 & SFEY F TREI T HTEOT (T 3) F

TEFAS:
Tt FaAe AT A myfes R ghd sueer § R o ama F o
g o 3 g

o

1. Rfecar dsfost & B soa & BT 39 =& o siv siwet
F T F F F= F O F@r I afww
2. A9 e & ®H S & &0 WER B A F AMge]

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the information given in the statements.

Statements:
Though there is advanced medical facilities available nowadays, still child mortality in
India is high.
Conclusions:
1. Medical scientists should be asked to give up their job and work as doctors to save

lives.
2. The Government has to make efforts to decrease child mortality.

o, 1 3 2 2t ST F E
Both 1 and 2 follow.

1 3R 2 Eet et A E
Neither 1nor 2 follows.

e s 1 3rqgEeoT Far 2

Only conclusion 1 follows.

4mﬁﬁﬁ&2wm%l

Only conclusion 2 follows.

x

x

v

Q.69

Ans

ABCS$+#DEF&=?GHI!2+@ %# @ 39T & gv, ot =eF # o TE
ey

ASD a @

Using the sequence ABC$+#DEF&=?GHI!2*@, fill in the blank given in the following
expression.

ASD____ G'@
v
X272
X3=
X4 F

Q70

Ans

[63—(—3){-2—-8-3}]=+3{6+(—2)(—1)}=2
[63—(—3){-2—-8-3}]=+3{6+(—2)(—1)}=2
X0
<23
VES




K42

1 e H ¥ i @ Oier oSt F Gee F6l 87
Which of the following solutions do not conduct electricity?

Ans AfEaw gEsieraEs o

Ko
Sodium hydroxide solution
v ToTehIST Hlel

Glucose solution
X vfafes fas oo
Acetic acid solution

x4.§@a$ﬂﬂmuﬁ?a’l?~r

Hydrochloric acid solution

Q72 ot Hiad SIAT. AT AT Teish F AE@F HieT g2
Who is the author of the book 'Lone Fox Dancing: My Autobiography’?

Ans " e dies
Ruskin Bond

| youfa T
Arundhati Roy

o osT =
Shobha De

, ATIaTer

' V.S. Naipaul

x

x

Q73 wH &3 #, A SKYJACKING =1 AJYKSGNIKC Torar orar § o s&t i &
CHEAPJACKS &r &3 for@r smeam?

If in a certain code, SKYJACKING is written as ATYKSGNIKC, then how will
CHEAPJACKS be written as in the same code?

Ans o 1. PAEHCSKCAJ
< 2 PAAEHCSKCAJ
< 3. PAEHCCSKCAJ
<« PAEHCSKAJ

Q74




A & 1 iy # s & B wE § ww fRaer dndr W@t &

HATERTHAT gE?
I ] K
A L B
E|F
HM G
D [

‘What is the minimum number of straight lines required to construct the given figure?

1 J K

A L B
E|F
HM G
D [
A of 117

<214
<318
<416

Q75 wrefgreded, N AR F6T H IO I Hal W T 82

Complete digestion of carbohydrates, proteins and fats takes place in the:

Ane Il H
X

Oesophagus

Y H

Stomach

v O s
Small intestine

4. ﬂﬁ' S-ﬁ‘v?l' EEI'

Large intestine

X 2.

x




